MAP[a] = x, MAP[b] = yMAP[c] =z,
foo =a,bar = x

INITIALISATION({(al->x),(bl->y) (cl->Z) } ,a,X)

MAP[a] = x, MAP[b] = z,MAP[c] =y,
foo=abar =x

INITIALISATION({ (al->x) (bl->Z) (cl->y)}a,X)

MAP[a] = yMAP[b] = x, MAP[c] =z,
foo=abar=y

INITIALISATION({(al->y) (bl->x),(cl->2)} a.y)

MAP[a] = yMAP[b] = zMAP[c] = x,
foo=abar=y

INITIALISATION({(al->y) (bl->z) (cl->x)} a.y)

MAP[a] = z,MAP[b] = x, MAP[c] =y,
foo=abar=1z

INITIALISATION({ (al->2),(bl->x),(cl->y)} a.2)

INITIALISATION({ (al->2),(bl->y).(cl->X)} a.2)

MAP[a] = zMAP[b] = yMAP[c] = x,
foo=abar=z

INITIALISATION({(al->z) (bl->x) (cl->y)} b X)

MAP[a] = z,MAP[b] = x, MAP[c] =y,
foo =b,bar = x

INITIALISATION({ (al->y) (bl->X)(cl->2)} b.x)

MAP[a] = yMAP[b] = x, MAP[c] =z,
foo =b,bar =x

W
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ID1 = {ab,c}.ID2 = {x,y.2}

INITIALISATION({(al->z) (bl->y)(cl->x)} ,b.y)

MAP[a] = z,MAP[b] = yMAP[c] =x,
foo=bbar=y

INITIALISATION({ (al->x) (bl->y) (cl->Z)} b.y)

MAP[a] = x, MAP[b] = yMAP[c] =z,
foo=bbar=y

INITIALISATION({(al->y) (bl->2).(cl->X)} b.2)

INITIALISATION({ (al->x) (bl->z) (cl->y)} b.2)

MAP[a] = yMAP[b] = zMAP[c] = x,
foo=bbar=2z

INITIALISATION({ (al->2),(bl->y) (cl->X)} ¢ X)

MAP[a] = x, MAP[b] = zZ,MAP[c] =y,
foo=bbar=1z

INITIALISATION({(al->y) (bl->Z) (cl->X)} ¢ X)

MAP[a] = zMAP[b] = y,MAP[c] = x,
foo =c,bar = x

INITIALISATION({ (al->2),(bl->x) (cl->y)} ¢.y)

MAP[a] = yMAP[b] = zZMAP[c] =x,
foo =c,bar=x

INITIALISATION({(al->x),(bl->z) (cl->y) } ,c,y)

MAP[a] = zMAP[b] = x, MAP[c] =y,
foo=cbar=y

INITIALISATION({ (al->y) (bl->x) (cl->2)} ¢ 2)

MAP[a] = x, MAP[b] = z,MAP[c] =y,
foo=cbar=y

MAP[a] = yMAP[b] = x, MAP[c] =z,
foo=cbar=z

INITIALISATION({ (al->x) (bl->y) (cl->2)} ¢ 2)

MAP[a] = x, MAP[b] = yMAP[c] =z,
foo=cbar=2z




